50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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a. What is IoT? Explain conceptual framework of IoT with necessary equations and explain the

reference model suggested by 'CISCO. (08 Marks)
b. What are three archltectura | domain ﬁmctronal1t1es§m m2M architecture? Compare loT with
M2M. A (08 Marks)
c. Explain Constramed AY)phcatlon Protocol (CoAP)ﬂ’for IoT/M2M. (04 Marks)

”W

a. Explam modlfied OSI model for the IoT/MQ‘M systems with appropriate figures. (08 Marks)
b. Explam' ssage Queuing Telemetry Transport (MQTT) protocol with Pub/Sub model with

, proper figures. (08 Marks)
c. Write and explain four layer archttectural framework deve loped at CISCO for a smart city.
« (04 Marks)
a. (08 Marks)
b. (06 Marks)
C. (06 Marks)
a. ' ting services using Nimbits.
: (06 Marks)
b. oud Computing? Explain the cloud serv1ég models with necessary figures.
y (08 Marks)
8 Explam 6LoWPAN w1thmec sary figures. - « (06 Marks)
: Modu‘!& 3
zi‘%ngxplam the 1mportag)ce of security in IoT. Explain briefly the security models used in IoT.
e : (08 Marks)
b. Write a short: note on loT Securlty Tomography and explain layered attacker model.
“ % (08 Marks)
c. Write a shortnote on Arduino programmmg for IoT. (04 Marks)
OR
a. [Explain about the securlty and threat analysis in IoT/M2M using neat figure. (08 Marks)
b. Explain layered attacker model with possible attacks and suggest the steps for mitigating
attacks. (08 Marks)
c. Explain how d; a rs read from sensors and devices. (04 Marks)
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Module-4 CY
Write a short note on operational states of a sensor, nodé‘ﬂ“wnh different power consumptions
with figure. (10 Marks)

Write a detailed note on Optimization goals and ﬁgpre of merit for wireless sensor networks.
Y (10 Marks)

OR,

Write a note on embedded operating-system suitable for WSN and. explaln about different

programming paradigms. . (10 Marks)

Explain the single node archltecmre With necessary hardware com, ponents (10 Marks)
- Module-5 :

Explain the crucial points’ mﬂuencmg the physical layer of WSN. (08 Marks)

Explain Mediation Devie “\Ei‘%tocol with advantageﬁ ang d1sadvantages. (06 Marks)

Explain the CSMA protm:ol with proper flow dlagré% v (06 Marks)

1nefﬁc1ency in WSN (08 Marks)
What is; geb aphical routing and %xplgm about Greedy Penmcter Stateless Routing for
wireless networks with proper fi “’f‘“‘ \ (08 Marks)
Explain‘Leach protocol with nec a;ry figure. (04 Marks)
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